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0. | s=2= =83 2% Eill
Jb. ZAHHE

O ZAPIZE : 20084E 119 49 ~ 112 82(5Y)

O ZAKIE : 224 ZAHAS SZA, DA 225 =FHA(20HA)
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- 112 Uilsss Mas D2 8 Jlatad
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6~8& ARO[ Z==& 0l

0.5~1.6mm & &H2 29| BIJt WO, HARSHAO0| 420 720 AU,
BIRSAT 6~82 AIQ] 32 =0 QUUS.
712 =2l JI2(c) S5(%) S5((m/s) Z8(mm)
118 3 g g 16.0 55.0 1.1 -
118 44 i L 13.6 35.9 1.7 -
118 5Y HS 139 193 1.2 -
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118 72 |H], &, A2 159 82.6 0.7 1.5
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2] Il 328 sk
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g, 388 35 X A3
S| o oug/m
= TSP Pb Cd Cr Cu Fe Mn Ni

HANE-1 53 0.0539 | 22= | 0.0126 | 0.0300 | 1.9586 | 0.1265 | 0.0120
HNE-2 82 0.0442 | 22= | 0.0126 | 0.0344 | 1.6619 | 0.1640 | 0.0084
HANE-3 101 0.0668 | 2= | 0.0246 | 0.0585 | 2.6672 | 0.2309 | 0.0200
HNE-4 111 0.0667 | 2= | 0.0283 | 0.0681 2.9072 | 0.2795 | 0.0256
HMNE-5 69 0.0431 2242 | 0.0070 | 0.0301 1.2496 | 0.0786 | 0.0072
2otz 105 0.0612 | 2= | 0.0357 | 0.0481 2.4236 | 0.1909 | 0.0405
Z2o=z-2 79 0.0272 | 22= | 0.0159 | 0.0473 | 2.4320 | 0.1542 | 0.0120
2o=-3 122 0.1039 | 2= | 0.0600 | 0.1401 46117 | 0.3416 | 0.0712
Zots-4 89 0.0340 | 22= | 0.0158 | 0.0364 | 2.6642 | 0.1675 | 0.0103
Z2o=z-5 68 0.0543 | 22= | 0.0106 | 0.0391 1.5196 | 0.1154 | 0.0066
HNESH 83 0.0549 | E2= | 0.0170 | 0.0443 | 2.0889 | 0.1759 | 0.0146
S0=sHP 93 0.0561 A= | 0.0276 | 0.0622 | 2.7302 | 0.1939 | 0.0281

200849 118 LTl X9 €472 WI=Z32529: dg

=2 TSP Pb Cd Cr Cu Fe Mn Ni

a g 88 0.0555 | A= | 0.0223 | 0.0532 @ 2.4096 @ 0.1849 | 0.0241
2 A 65 0.0490 0.0013 0.0158 @ 0.0717 1.6465 0.0789 @ 0.0139
2 kg 82 0.0646  0.0020 0.0071 = 0.1394 1.8337 0.1221 @ 0.0062
o 2 - 0.0192  0.0008 0.0033 0.0736 0.5866  0.0223 = 0.0030




